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Thundering Herd Problem

¥ ".”‘ . _.' 1
ARNA® L s sV e

&7 CYCLECOMPUTING



T
///\,,

Thundering Herd Problem

» Classical OS problem: multiple processes are
waiting for the same event, but only one can respond
at a time.

» In the cloud, what happens to the (underlying)
infrastructure when you start 10k servers is someone
else's problem.

» What happens at the platform and application level is
your problem

» Experience is helpful.
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while true bottleneck.next()

*» From Miron:

A bottleneck is a (system) property
that once removed creates a new
bottleneck.
» Related to theory of constraints from industrial
engineering.
» Corollary: Every component in a distributed
< cgystervtan be a bottleneck.
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Bottlenecks we have seen

Scheduler. Forking, transferring data, etc.
Shared filesystem (NFS).
Web server/backend/provisioning system -£client.

Provisioning system - server (AWS). Need delta
mechanism for ec2-describe-instances.
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